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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

 

69.32 ÷  7.12 

=  

=  

564 ÷  3.13 

=  

=  

745 ÷  5.37 

=  

=  

48.25 ÷  12.02 

=  

=  

320.62 ÷  4.38 

=  

=  

686.24 ÷  8.23 

=  

=  

104.17 ÷  10.2 

=  

=  

62.74 ÷  3.33 

=  

=  

63.28 ÷  9.83 

=  

=  

82.37 ÷  4.62 

=  

=  

91.12 ÷  2.63 

=  

=  

844.32 ÷  6.7 

=  

=  

472.85 ÷  2.38 

=  

=  

628.37 ÷  2.48 

=  

=  

362.70 ÷  3.63 

=  

=  

Dividing Decimals with no Remainder 
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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

69.32 ÷  7.12 

=  70 ÷  7 

=  10 

564 ÷  3.13 

=  570 ÷  3 

=  190 

745 ÷  5.37 

=  745 ÷  5 

=  149 

48.25 ÷  12.02 

=  48 ÷  12 

=  4 

320.62 ÷  4.38 

=  320 ÷  4 

=  80 

686.24 ÷  8.23 

=  680 ÷  8 

=  85 

104.17 ÷  10.2 

=  100 ÷  10 

=  10 

62.74 ÷  3.33 

=  63 ÷  3 

=  21 

63.28 ÷  9.83 

=  60 ÷  10 

=  6 

82.37 ÷  4.62 

=  80 ÷  5 

=  16 

91.12 ÷  2.63 

=  90 ÷  3 

=  30 

844.32 ÷  6.7 

=  840 ÷  7 

=  120 

472.85 ÷  2.38 

=  470 ÷  2 

=  235 

628.37 ÷  2.48 

=  630 ÷  2 

=  315 

362.70 ÷  3.63 

=  360 ÷  4 

=  90 

Dividing Decimals with no Remainder 


